AP Physics-2014

Name Period Date

snnsssssssssssmsamses Quiz: Linear Motion {Calculations}

» Show equations and steps for credit.
» Include units for numerical answers for full credit
» Use 9.8 m/s? for the acceleration of gravity

1. A can is given a push up a very long ramp. When it is 0.60 m from the motion sensor is it moving with an initial, instantoneous

velocity of 2.0 m/s. It slows with a uniform acceleration of 0.40 m/s2.
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b. S caleulate insfomaneous velocity when its position, -~

relative to the motion sensor, is 3.8 meters.
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4. A spaceship moves with an acceleration of v = 4.012 — 800. Times are in seconds, and velocities are in m/s.

_MCO@'O'O the instantaneous velocity at t=5.0 seconds.
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b. O S Caleul e the i ss acceleration at +=5.0 seconds.
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c Calculate the jerk at +=5.0 seconds.
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d. - Calculate the time when the instantaneous velocity will be zero (not including t=0).
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5. A speeding cor passes a motionless police car. The speeding car is moving ot a constant velocity of 30.0 m/s. When it is 1 00.0
meters from the police car, the police cort starts to accelerate uniformly at a rate of 8.0 m/s?
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6 O S Calculate the relative speed of the cars when the police car catches the speedef..
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